FASERBHREVFEHREFKETRBE—F AV

REB(STSETA298 : RILEBT-H DFEAR—YIT4— LR D EEHIRIG ]
1 p) 3

RRFAR—A
RE: 182 28: 38:

SPLREMR(SHSETA 298 : RILUB B I=-DDFERAR—YI71—ILFAE]

RE: 18 28 38:

7ayh F—L& K

A BHRSvH—X m ”

7/22 11:00

LEHHISQ 0
B FR—I X Fal 10
7/23 10:00
DEFEIZQ

c AR — S —F 1A 1 ”

7/22 11:00 |0 7

. N SF-AE®
D HEHFR—AX ALl 13
7/29 8:00
Q DEHRS

E B 557 ol ”

7/22 900 |0

k k DEFHIFD 1
F B2z 7—X 1A - 10
7/23 8:00
PLEFERZD

e S E S r—HR At ”

7/22 900 |° 5

SF-AE®D
H EIAFLB sl !
3SR TE B
IOy RERETROLSISTET 12225 EEATHIL. FHRI YA —Z :
TR 220 () FRISHEC0S &V o ST eam |
F—LEE :TH305 e EhrnS sty RIZFLB

=I5 D EHEKIS £E HE22E #E 12888

N =~ I p\& g




FAEHEEREVERREF RS MERER
FFEIFITOVIE

®T AJOvsH HE | B¥% | A% | 5ln | BR | B8 | &= =
HEHI713—X 3 1 1 1 3 17 13 4
Y |FBEDYH—X 3 3 0 0 6 35 15 20
IFRNBEI7=vIR 3 1 2 0 2 5 20 A 15
MmER7—X 3 0 2 1 1 7 16 A9
®T BOvY HE | B | % | 5l | R | B8 | KR =
AFEAYY 3 1 1 1 3 34 25 9
BOEL—JILR 3 0 3 0 0 11 300 A 19
o |RWUAR—IR 3 3 0 0 6 32 22 10
<) —>X 3 1 1 1 3 16 16 0
®T c7avsy HE | B% | A% | 5ln | BR | B8 | &= =
WERSYH—X 3 1 1 1 3 17 14 3
Y [deAR—/S—F 1> 3 2 1 0 4 24 10 14
HYAZTURR 3 1 2 0 2 16 19 A3
GBCiLL 3 1 1 1 3 12 26| A 14
®T DJOv% HE | B¥% | A% | 5ln | BR | B8 | &= =
tURSILIS—H R 3 0 1 2 2 11 30 A 19
WhR—a12Y9 3 0 2 1 1 10 28| A 18
¥ |REHFR—AX 3 3 0 0 6 47 9 38
ERI7A45—X 3 1 1 1 3 29 30 AT
®T EJOvsH HE | BH | % | 5ln | BR | &R | &= =
ENLYRRE—X 3 1 2 0 2 10 24 A 14
AHFEFELR 3 2 1 0 4 17 14 3
Y |57 3 3 0 0 6 21 5 16
INBRZSAFH X 3 0 3 0 0 14 19 A5
®T F7Ovs HE | BH | a8 | 5ln | BR | B8 | &= =
* |2ED2=7—X 3 2 0 1 5 38 2 36
FHFF—X 3 1 1 1 3 31 5 26
NaI—hH—X 3 0 3 0 0 4 75| A 71
Hh—FILR 3 1 0 2 4 13 4 9
®T G7ovsy HE | BH | A% | 5ln | BR | B8R | &= =
¥ |rEVYy—IR 3 3 0 0 6 26 9 17
FHOYH—X 3 0 2 1 1 12 30] A 18
N N:: P 3 2 1 0 4 21 7 14
R/NET7A 42— 3 0 2 1 1 11 24| A 13
®T HZOv% HE | B% | A% | 5ln | BR | B8 | &= =
WMEZ1—F539vHIR 2 1 1 0 2 7 12 A5
Lo —H—X 2 0 2 0 0 16| A 10
¥ |RIEFLB 2 2 0 0 4 19 4 15




FRRREHREVEHFREFRE JTOVIRIXEER

[AJDvY]

%”j SR T BEBI 74— X FERO v H—X[IFNe7z=vs2| MEAT—X |RE| Bk &#%| 510 |Ba|8a|ka| =
BEHT 7 15— X o @ 10 60 1| 24 2 3 1| 1| 1| 3 17| 13 4

% |BBESYH—X | 10O 9 130 2120 3| 3| of o 6| 35 15 20
IFNEI=vY R [ ® 13 ©) 3| 1| 2] 0] 2| 5| 20|a1s
mgA7—X 2 A0 2] 4@ 12] 1@ 2 3 o 2f 1| 1f 7| 16/Aa9

(BJov7Y]

A HWET EEAYY (BEE—IAR| RUA—HR |FLTU—X | He | B e 3s | Ba|ea x| =
EEA VY 140 4 13@ 14 7.4 7| 3 1| 1| 1| 3| 34| 25/ 9
BmEA—5 LR 4 @ 14 4@ 12| 3@ 3| of 3 of of 11| 30/a19

Yo [FElR—2 2 140 13) 12 O 4 6. O 3| 3| of of 6| 32| 22| 10
FWTY—> X 7TA 1 40 3 5@ 6 3| 1] 1| 1] 3| 16| 16] 0

[conv’]

i BT WFRS v i—X|HHR— A~ o BYATTU FR|  GBORIL  |He B an|sis|ma|es|xs| 2
BFRS v H—X 2@ 3 1o 71| 4 4 3 1] 1| 1| 3/ 17 14 3

% [HmR—rS—F4> | 3 O 2 3 @ 5 180 3 2| 1| o 4| 24| 10| 14
HBYAZT R ® 11| 50 3 4 @ 3 1| 2| of 2| 16] 19|a 3
GBCHRLL 4 A 4 3@ 18 50 4 3 1| 1| 1| 3| 12| 26|a 14

[(DJov7’]

et BT YIRS R| MR—A VT | RREHR—A X |BRT7 15— X| HA | | (315 | ma|8a | x| 2
2k 5LS—5 R 4 A 4 o @ 19 7oAl 7l 3 o 1| 2| 2 11| 30[a 1
mR— 25 4 A0 4 2@ 9 4 @15 3 0 2/ 1| 1] 10| 28[a 1

to [mESHA—A X 190 0 90 2 1990 7| 3| 3| of of 6 47| 9| 38
MRT7 A 8—X TA 7150 4 7@ 19 3 1| 1] 1] 3| 29] 30|a 1

[EJov’]

i BT FlLy FR5—X| EHFBFELR| My B 5T | MERS X HA || A%| 315 | Ba|8a | xa| 2
Ly KRE—X 2@ 8 1. @i 10 770 6 3 1 2 o 2 10| 24|a
EHFEFE LS 8 O 2 2@ 6 7.0 6 3 2 1| of 4] 17] 14| 3

s R EY 5D 100 1 60 2 50 2/ 3 3 of of 6 21] 5[ 16
INEBSA AU 6@ 1 6@ 1 2@ 5 3 0 3] of of 14| 19|Aa 5

(FJov7’]

= HBHT wrva=7—x|BEKLE—X BB —H—X| h—Uriz |se|mu|an|sis|salesxs] 2

% |BED2=7—X 50 2/ 30 o 0oa o 3 2 of 1| 5 38 2 36
B K F—X ® 5 29001 0 0 A 3 1| 1| 1| 3| 31| 5| 26
BB —H—X ® 33 0@ 29 4 @ 13| 3| o 3 o of 4] 75amn
H—SF LR oAl o 0A o 130 4 3 1] of 2| 4 13 4 9

(cTov7Y]

s HBHT SorEYv—0 R | BRSO A—X| NKEYTT |Arevrqs—x|@me B A% 59| Ba|as| kx| 2

Yo |RrESY—Y R 100 5 40 3 120 1| 3 3 of of 6 26 9 17
B v fi—X ® 10 0@ 13 7 A 3 of 2 1| 1| 12| 30|a 18
NARY 5T 3@ 4 130 0 50 3 3 2| 1| of 4 21| 7| 14
AhET744—Z | 1 @i 12) TTA 1 3 @ 5 3 of 2| 1] 1| 11| 24]a s

(HOov?Y]

oy W7 |[emma—escoox| Lo —H—X|  EBFB | Ba | B ak|sis|males|xs| 2
HE=1—t5TvsR 550 4 2@ 8 2 1] 1] o0 7| 12]la s
il & —H—X 4@ 5 2 @ 11| 2 0 6| 16[a 10

# | RIFLB 8 O 2 110 2 2 0 19| 4| 15




